College Algebra

Chapter 2 Test
1. Evaluate a Function
Given f(x)=x"+8x-1, find: Given f(x)= 3x=35 find:
a) £(-2) 4x+2
f(2)=(-2)" +8(-2) -1 AN
F(=2)=4-16-1 F3y=3=3
F(-2)=-12-1 49(3);2
A I9=10
b) £(5x-1) @)=
fGx=1D)=0Gx-1)"+805x-1)—1 5
f5x=1)=0Gx=1)Gx-1)+40x-8-1 f(3)=7
F(5x—1)=25x> —5x—5x+1+40x—9
F(5x—1)=25x>+30x—8 b) f(x+3)
_3(x+3)-5
Jlr+3)= A(x+3)+2
3x+9-5
S =
3x+4
T =
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2. Evaluate a Piecewise Function

+3,x<0

Given: f(x)= B . find:
O9x—-1,x>0

a) f(-10)

f(=10) =|(-10)+3|
f(=10)=|-10+3|
f(=10)=|-7|
f(=10)=7

b) f(9)
F9)=909)-1
£(9)=81-1
£(9) =80

) f(0)
f(0)=0)+3
f(0)=|0+3
f(0)=3)
fO)=3

2 _ <
XIIMXE2 L
Sx—1,x>2

Given: f(x)= {
a) f(8)
F®)=5@) -1
f(8)=40-1

f(8)=39

b) f(2)
F@=2?-32)
f)=4-6
f@)=-2

c) f(=D
fD)=(=D*-3(-1
f(-)=1+3
f=1=4

3. Determine if a function is even, odd, or neither

Determine if the following function is even,
odd, or neither (no guessing, if your “why” is
not correct, you will not receive credit):

Fo=l -

Even, symmetric to y-axis

Determine if the following function is even,
odd, or neither (no guessing, if your “why” is
not correct, you will not receive credit):

F) =ty
X

Odd, symmetric to origin
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4. Find the slope of the line segment that falls between the points (-5, -2) and (-12, -4)

= Yo =W

Xy =X
(-2
(=12)=(=5)

—-4+2

5. Find the equation of the line that falls between the points (-8, 3) and (-5, -10)

step 1: step 2: step 3:
Y20 y=mx+b y=mx+b
Y274 _10="8 5+ y=13,.%
m:(—lO)—(3) 3 3 3
(=5)—(-8) _10=9 1,
_ -13 3
C—548 —10—§=b
nel2 \
3 _—95=b
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6. Find the equation of the line that passes through a point and is either parallel or perpendicular
to a line

Find the equation of the line that passes Find the equation of the line that passes
through the point (-4, 1) and is perpendicular to | through the point (-2, -5) and is parallel to
3x—4y=2 9x+y=3

Step 1. a. Step 1.b. Step 1.c. Step 1.a. Step 1.b. Step 1.c.

3x—4y=2 3 -4 9x+y=3 Slope is -9 m=-9

3x—2=4y |Slopeis 4 3 y=-9x+3

3.2

Zx 4 Y Step 2

3 1 y=mx+b

257577 -5=-9(-2)+b

-5=18+b
Step 2 ~5-18=b
yemeh ~253-b
l=—(-4)+b
3 Step 3
1= 16 b y=mx+b
3 y=-9x-23
=10
3

-1B3_,
Step 3
y=mx+b

-4,
T
7. Describe the transformation from the basic graph:
Describe the transformation from the basic Describe the transformation from the basic
graphto f(x)=(x+3)> -4 graphto f(x)=—|x—2/+5
Down 4 Up5
Left 3 Right 2

Reflects across x-axis
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8. Find the domain of the following functions:

3x+2
a X)=——
A x*—9x+18

x*—9x+18=0
(x=3)(x—-6)=0
x=3=0 x-6=0
x=6
xX#6

x=3
x#3
or

(_00’3) U (3’6) o (6’ oo)

b) f(x)=+/3x+8

3x+82>20
3x=>-8
3_XZ__8
3 3

9. Find the composition of two functions:

Given f(x)=x"-3x-2 and g(x)=x-5,
find:

a) feog

feg

=f(g)

=(x-5)"-3(x-5-2
=(x=-5)x-5-3x+15-2
=x>—=5x—5x+25-3x+13
=x>—13x+38

b) gof

gef

=g(f)
=(x*=-3x-2)-5

=x*-3x-7

Given f(x)=11x-1 and g(x)=3x+7, find:
a) feog

feg

=)

=113x+7)-1

=33x+77-1

=33x+76

b) gof
gef

=g(f)
=3(1lx-1)+7
=33x-3+7
=33x+4
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10. Find the inverse of a function:

Find the inverse of f(x) = éx -2

f(x)=éx—2

9(x) = 9(% yj +9(-2)

9x=y-18
9x+18=y
F(x)=9x+18

Find the inverse of f(x)=3/4x-1

f=Y4x-1
y=VE1
v=3Hy1
(0 = ({ay=1)
x'=4y-1

X +1=4y
41

4
o=

y

X +1

4




